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QID : 101 - In the following question, select the related word from the given alternatives.
Angle : Radian : : Pressure : 7
frsffar = few mw frpey 7 o1 il s vy g

oo s iww?
Options:

1) Tesla

Eaaad

2) Watt

e

3) Pascal

iie i

4) Newiton

=

Correct Answer: Pascal
Ty

Candidate Answer: | NOT ANSWERED |

QID : 102 - In the following question, select the related letters from the given alis™ ativ as.
FIRE : KNWJ : : PIRE : ?

Tt o Fom o Freeey = o7 mvwfiey sy w7 g

FIRE : KNWJ) :: PIRE : 7

Options:

1) UMW)

2) UNWI

3) TMVI

4) VOWK

Cormrect Answer: UNW)

Candidate Answer: LINW)

QID : 103 - In the following question, sekect the related number from the given alternatives.
43:57::36:7

PrafrfirT o1 & for o Byt & 51 wfiey s w7 3

43:57::36:7?

Options:
1)50

2)52
3)46

4) 64
Correct Answer: 50
Candidate Answer: 50



QID : 104 - In the following question, select the odd word from the given alternatives.
Prafrfrs mr & P e Pyt & 7 Brrs srer f7 P

QID : 105 - In the following question, select the odd letters from the glven alternatives,

i oy % oo m Prpe 7 7 Frvw spay 17 R

Correct Answer: UYCH
Candidate Answer: LYCH

QID ; 106 - In the following question, select the odd number pair from the given alternatives.

Ty wr & forr mw S & 1 fre e e aT g
Options:

1) 15-45

2)17-51

3)14-4

4) 16 - 48

Correct Answer: 14 — 44

Candidale Answer: 14 — 44

QID ; 107 - In the following question, select the odd number pa- #om ne given alternatives.

Fraffs Ty 7 fow My e 7 97 fer e e a g
Options:

1)96- 15

2)82-11

3)72-9

4) 94 - 15

Comrect Answer: %4 — 15

Candidate Answer: 72 — 8

QIP ; 108 -
How many triangles are there in the given figure?

& m st A e g B



24
3)5

4)6
Cormrect Answer: 4
Candidate Answer: 4

QID : 100 -
How many rectangles are there in the given figure?

& 718 e A A wraa E2

Options:
1)24

2)48
3)36

4) 32
Comrect Answer: 36
Candidate Answer: 24

QID : 110 -
How many surfaces are there in the giver fiqu'a?

& o st F Reeeht weEw ¥

M

Options:
1)9

2)10
311
4) 12
Cormrect Answer: 10

e e B e B B _a=




QID : 111 -
In the given figure, what will come opposite to face
containing '8"?

& 7S ¥pia #H, 'O gF wow 5 Rolm
3T

[3]s
9|8
T4
Options:
1)3
2)7
38
4)4

Cormrect Answer: 4
Candidate Answer: 7

QID : 112 -
If a mirror is placed on the line AB, then which of the
answer figures is the right mirror image of the given
figure?

IfT UF TGO F AB TE&T W T@ AW, A & o F
I gl A F AT W oapla oF e T
T U AR gl

CROPS




Options;
1)

SdOAD

SdOdD

3)

CEOb2

4)

29040

Cormrect Answer:

29040

Candidale Answer:

29050

QID : 113 -
From the given answer figures, se'ect the one in
which the question figure is hidde.” =~ hedded.

& 7 =R awfaEt # ¥ ¥ R ey @ 9w
e & or spfe Bita &

Z




Options:
1)

-
=<
=
X

Correct Answer:

pA

4)

2.

QID : 114 -

A piece of paper is folded and punched as shown
below in the question figures. Fiom the given
answer figures, indicate how it will appear when

opeaned?

M & oun agladt # Rew sgEr e @
AEHT OES TUT Wiee ¥ O 9% FE 39T AT

Candidale Answer:

st feard 2ame

p

L




Options:
1

'
o0
(-T-]

L

&

QID : 115 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bond
2. Band
3. Brand
4. Brain
5. Bend

Frafoferr sr==t 1 srvror § avy v v § sy frn

1. Bond

2. Band

3. Brand

4. Brain

5. Bend

Options:

1) 25134

2) 25142

3)21534

4) 21543

Correct Answer: 25143
Candidate Answer: 25143

QID : 116 - Identify the diagram that best represents the relationship among the given classes,

Letter, Word, Sentence



Oplions:
1

QID : 117
In the given figure, how many red cars e e.lher
steel or shiny but not both?

& ok angpfy H, frad arer onfas w o sEoe ¥ ar
i e € oty 2t o ¥

Car/
IMET

N
[41(31]18( 19 )21]32) Je— ;H
IR

Shiny / 67 Steel /
THETAT T
:.l)pﬁ-gllli H
2)40
3) 27
4) 42

Comrect Answer: 39



Candidate Answer; 40

QID : 118 -
In the following question, select the number which
can he placaed at tha cign of quection mark (?) from
the given alternatives.

Treataiaa uw A for or fReedt # & uw R@E
(7) &% Tume Oy S avsh dwar @ gET

(4] [&] [3]
[3]1]7] [8]2e]a] [B]2]7
L2 | L2 | LB |
Oplions:
1) 26
2)28
3) 30
4) 38

Comrect Answer: 28
Candidate Answer: 36

QID : 110 - Tn tha fallawing question halow are given soma statamants fllowed by same o duc s 1e Taking tha given ctatemants tn ha trua even if they ssam tn
be at variance from commonly known facts. Read all the conclusions and then decide wE «h s t = given conclusion logically follows the given statements,

Statemante:
I. Some tables are large.
II. No large is blue.

Conclusions:
L All large are tables.
II. Soma hlua ara largs.

Hrr e o e W e T i T AT I AT A s g o T oo @) e e et s ot A, S 3 e wre e o P gn endt Preet of s R
Fraifor o7 e forer e sy 91 Pt forer e st 3 v v g £

AT
L ¥@ vy ot n
1. g e e = i

i

L it & W )

Options:

1) Only cenclusion (1) follows.

et Frerd (1

2) Only eonclusion (IT) followe.
e fAreed (I1) wdt 31

3) Both condusion follow.

S ot Pt et #1

4) Neither conclusion (I) nor conclusion (II) follows.
v =it Bt (1) = Freed (11) o &

Correct A + Meither Jusion (I) nor canclusion (IT) follows.
-r"!THWN m Hﬁ FArem (I1) ot &0
1 Neither 1 (I) nor lusion (I1) follows.

amm(n E P (L) T



QID : 120 - In the fullowing guestion below are given some statements Kllowed by some condusions. Taking the given statements W be wue even Il'lh:\‘ seem W
be at variance from commonly known facts, Read all the conclusions and then decide which of the given conclusion logically follows the given

Slatlemenis:
1L Some chairs are rectangle.
T0. All reckangle are white.

Conclusions:

L. All white are chairs.

II. Some white are rectangle.
1. All rectangle are chairs.

sy T e e H g e e AR AT 3 AT O Ao g Feed e o i o e aeaet o et W, v 3 emeres wre Aot # e dn el eeed 9 sl e
Pt w% & fe oo w31 Breed, Fae o seaeti % smare o= g @

U

I §= F¥E e
1L, #rdT T T

Options:

1) Only conclusion (111} tollows.
e fRreed (I0D) ot

ZJ Dni'f vonclusion {1I) follows.
s e (T1) wft &

3) Only conclusion (1) follows.
e et (1) =it 20

4) All conclusion follow.

a7 s wfT )
s Only Jusion (II) follows.
orer Pt (1) it &
did 1 Only concl (11) follows.

e P (1) wrdt 21

QID : 121 - Fis the son of L. L is the father of J who is the father of M. He 515 v = related to M?

F. L¥r g @ L, 3 % o f 9 M osr Fe i 3 o eft M P aoere o e *2
Optione:

1) Dauylit=

e g

2) Sistar

i

3) Wile

Tt

4) Mothar

AT

Cormrect Answer: Mother
AT

Candidale Answwer: Ssber
=

QID : 122 - Suresh is the father of Mahash who is the brother of Ankit. Ankit's mother is daughter of Suman. How is Mahesh's mother's brother is related to Suman?
s, wer T e & o i sife e s i s o e e o i e o s s e o e e s &2

Options:

1) Father

) Son

i
3) Husband

t[NCT D]



QID : 123 - Deepak is 45 years old and Raj is 60 years old. How many years ago was the ratio of their ages 7 : 107

e ft 47 45 7 F vy 77 7 Ay 60 = &) P wd o st 9w AT 70 10 a2

Options:

1)9

2)8

3)12

4)10

Comrect Answer: 10
Candidate Answer: 10

QID : 124 - What will be the compound interest (in Rs) on a sum of Rs 16000 for 2 years at the rate of 10% per annum?

16000 = fF 7ifir o7 10% afFerd fF == % 2 797 w7 gl = (7 #) wvEme
Options:

1) 3200

2) 3360

3) 2400

4) 3000

Correct Answer: 3260

Candidate Answer: 3200

QID : 125 - In the given guestion, there are four figures given out of which three are similar in some manner and one is ne '~ _ne others. Select the figure which
is odd one out.

o o oy , = wrpfEEt & wd F Bt a i Bl o apr F anae o e § o o aewer B 31 B ety 9fae
Options:

H
I
W

2)

3)

4

Z

Correct Answer:

W

Candidate Answer:

QID : 126 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which
is odd one out.

T WO T W, ST ST S W ¥ e 9 S TR v T S ST O THT ¥ ST T T o ) frer st W SEm




Options:
1)

2)

3)

4)

TR D] [T |

Comrect Answer:

N

Candidate Answer:

{7

QID : 127 - In the given question, there are four figures given out o v+ ch * ree are similar in some manner and one is not like the others. Select the figure which
is odd one out.

ferr amr o, S Pt s # P e feef oo T .~ T # A T et e &) v gy 9 P
Options:
1)

I

.\\:\\
2z




Comect Answer:

2,

Candidate Answer:

2

QID : 128 - In the following question, select the missing number from the given senes.

4,9,15,22, 30,7
Frmfae w1 % o et § f q @ e S

4,9,15,22, 30,7

Options:

1)39

2)41

3)a7

4)52

Correct Answer: 39

Candidate Answer: 39

QID : 129 - In the following question, select the missing number from the given senes.
5,3,8,11,19,?

Freferiar war ¥ Frer o Rt 77 vy s wwy i

5,3,8,11, 19,7

Oplions:

1)33

2)30

3)39

4)41
Comedl Answer: 30
Candidate Answer: | NOT ANSWERED |

QID : 130 -
In the following ques''on select the figure which can
be placed at the < 'an of question mark (?) from the
given allemaltives,

faaefaa wr & By v Resur § 9 o ®g
(?) & TN OT AW Aol HIFA H T

o - £ -
o v - ? A




Options:
1)

QID : 131 -
In the following question, select the {'qure which can
be placed at the sign of guestion 3% (7) from the
given alternatives.

PreeRE vy & By v Reear F @ vy e
(?) & FAT T I aie HF @ G

F x A ? X




Options:
1)

xXxv

Cormrect Answer:

3
XV

Candidate Answer:

3
X

QID : 132 -
In the following question, select the ' gure which can

be placed at the sign of question_—=z°% (?) from the
given alternatives.

FeeRE vy # B o Reedt F F vy B
(?) & T 9T I 0 F P @ g

=[[0l[=[|l0 ]| 7




Options:
1)

2)

3)

4)

J

Cormrect Answer:

Candidate Answer:

E >

QID : 133 - In a certain code language, "LIGHT" is written as_™MJH LU". How is "FRAME" written in that code language?

e e e ar #, "LIGHT” F1 "MIHIU™ fomr sram ¢ o 7 9T & "FRAME" F7 fer s fren wmorm?
Options:
1) HTCOG
2) GSBNF
3) EQZLD

4) OPYKC
Correct Answer: GSBNF
Candidate Answer: GSBNF

QID : 134 - In a cerlain code language, "FAME” is written as "25" and "LIKE" is wrillen as "37%, How & "VINE" wrillten in thal code language?

o fafire w1 wre %, “FAME” 71 " 25" 741 "LIKE” 71 “37" ffrar s §) w1 7w W |/ “"VINE” 91 ey s fern amem?
Options:

1)48

2)52

3)50

4)46

Correct Answer: 50

Candidate Answer: 50

QID : 135 - In a certain code language, "MAKEOVER" is written as "UHYRHND P”. How is "TYREGRIP” written in that code language?

e VR R, &

L S

N P



ons:
1) TMVKIVCK
2) SLUIHUBW
3) RKTIGTAV
4) SKLIHTEY
Comrect Answer: SLUIHUBW
Candidate Answer: SLUHUBW

QID : 136 - What is called the dealing done through "money"?

“mE ¥ WTEW T AT A S-S 9T ST 87
Options:

1) Buy-sell

-

2) Direct selling

T

3) Commeodity exchange

-l

4) Nn aption is correct

e o wft T

Comrect Answer: Buy-sell

wrr-Fm

Candi O dity exchange
-t

QID : 127 - Which sister organization of the Werld Bank provides long term loans at zero interest rates to 1@ poe sst a sveloping countries?

Fipay o o wiA-2ft arpetiee s wy S ot w7 o=T =T o SrawTieee s g s 37
Oplions:

1) International Monetary Fund

SATTET =T W

2) Asian Development Bank

wftrard P v

3) Inter Devek A

T Rrerer o

4) International Finance Corporation

deTiETT faey e

Correct Answer: [nternational Development Association
Candidat + Acian Devalop t Bank
nfvrams P &

QID : 138 - In India, how many banks are currently na‘ionalized &cept the State Bank of india?

WTTH W, TAAA T WA 727 & TGO o e T e
Options:

1)25

2)24

3)20

4)18

Cormrect Answer: 19

Candidate Answer: 24

QID : 139 - When did the Govemment of India establish TRIFED?
T #ERTT 7 ZTEhE (TRIFED) 7t = w7 1 2

Options:

1) 1983

2) 1985

3) 1987

4) 1989
Cormrect Answer: 1987
Candidate Answer: 1080

QID : 140 - Which of the following is a bulwark of personal freedom?



Options:

1) Habeas Corpus

Tt gy

2) Mandamus

TR

3) Certiorari

T

4) Quo-warrantn

afimrrr-g=mr

Comrect Answer: Habeas Corpus
il i e 2 d

Candidate Answer: Habeas Corpus
a4t st

QID : 141 - In which yaar was the first Indian state recognized on linguistic basis?

firer =t wrrarer et e T s s o s 6 o S
Options:

1) 1956

2) 1851

3) 1950

4) 1953

Comrect Answer: 1953

Candidate Answer: 1956

QID : 142 - Which Amendment Act of Indian C itution gave itutional status to Panchayati Raj Syct8m?

qrr=fer sifrarr & wier i st wfufrers & gsml wr oot F1 s == fare
Oplions:

1) /1t

11w

2y 7

T2

3) 730

73t

4) 74th

74

Comrect Answer: 73™
731

Candidate Answer: 73
73

QID : 143 - The concept of Concurrent List of Indian Cc_titul. «n is inspired from Constitution of which country?

ATTHT AT FF R A= S Sy e o W qm G 37
Options:

1) United States of America

2) Australia

3) !Y:ana'la

FATET

4) Russia

=T

Cormrect Answer: Ausbialia

wfezforn

Candidate Answer: United States of America
s 7T

QID : 144 - Who was the father of Sultana Razia Begum?

=TT T = e



Options:
1) Itumish

TR

2) Qutubuddin Aibak
3) Balban

e

4) Alauddin Khilji
e Ferersir

Comect Answer: [ltumish

Candidate Answer: Qutubuddin Aibak
T

QID : 145 - Which of the following Indian ruler thrown the Greeks out of India?

Tt wr et % 7 frer srefrer o & are Prerer B am
Options:

1) Ashoka

Al

2) Bindusara

T

3) Chandragupta Maurya

= W

4) No option s cormect

7 e o

Cormrect Answer: Chandragupta Maurya
T AT

Candidate Answer: Ashoka

T

QID : 146 - Who among the following established the Ghadar Party?

et & o frer e ardt fF e $17
Options:
1)V D Savarkar
bl ks o
2) Bhagat Singh
T i
3) Chandrashekhar Azad
4) Lala Hardayal
T g
Correct Answer: Lala Hardayal
T g
Candidate Answer: Lala Hardayal
T g

QID : 147 - In which year Mak Gandhi hed the Civil Disobadi M t from

i Ashram?

Faror = wrgremy it S AT A # R e A g e

Oplions:
1) 1925

2) 1928
3) 1930

4) 1042
Comrecl Answer: 1930
Candidate Answer: 1928

QID : 148 - Which of the following folk dances s associated with Rajasthan?

ey T T WO W AW TSR W AT T T 7



Options:
1) Veedhi
#ndt

2) Gair

™

3) Rauf

=

4) Thara

T

Comrect Answer: Gair

-5

Candidate Answer: Jhora
AT

QID : 149 - Which of the following states has the famous Nabakalebara festival?
Frafirfer & # #-ar =y oferr s = a e i

Options:

1) West Bengal

s s

2) Tripura

Lk i

3) sikkim
e

4) Odisha
e

Cormrect Answer: Odisha
s

Candidate Answer: West Bengal
T W

QID : 150 - The Chilka Lake is located in which of the following states?

e ST Pt 7 o e e F e 80

Options:
1) Odisha
AfEem

2) West Bengal

afiry Fmer

3) Andhra Pradesh

i =

4) Telangana

FerTrAT

Correct Answer: Odisha
st

Candidate Answer: Odisha
Eursig

QID : 151 - Which of the following r've.. doas not originate in Indian territory?

frmfofr & TR R T T TR o & T

Oplions:
1) Ganga
i

2) Yamuna

o

3) Brahmaputra
T

4) Mahanadi

Correct Answer: Erahmaputra
AR
i

T

QID : 152 - The youngest folded mountain in the world is
I AR TT IR ARE T &



Options:

1) Aravalli

Tt

2) Himalaya

AT

3) Andes

e

4) Vindhya

e

Comrect Answer: Himalaya

Candidate Answer: Vindhya
R

QID : 1532 - Which range the Indo-G: tic plain from the Deccan Platsau?

ot ool o T ¥ I AT S e e vy 2
Options:

1) The Vindhyes

e

2) The Sahyadri

i

3) The Himamlayas

femmerT

4) The Aravallis

Tt

Cormrect Answer: The Vindhyas
e

£ N
C * The ¥

T

QID : 154 - Which state is the largest producer of tea in India?

AT H TT AT WA AT T T AT 2

Options:
1) Tripura

ik

2) Assam
T

3) Sikkim
fafrw

4) West Bengal

afire s

Correct Answer: Assam
wTT

Candidate Answer: Assam
ELLs

QID : 155 - Which one of the following Is né a form of precipitation?

Forer # #r i AT T W v T A |
Oplions:

1) Rainfall

-rr

2) Snowfall

fermrr

3) Fog

bl

4) Hail

T

Correct Answer: Fog
hidal

Candidate Answer: Fog
b

QID : 156 - Which instrument is used to measure altitudes in aircrafts?

AT 7 F=TE W w0 T A T s e A/ e



Options:
1) Actinometer
laie ices
2) Ceilometer
3) Accelerometer
b
4) Altimeter
ST
Comect Answer: Altimeter
b i Lo

Candidate Answer; Altimeter
ATt

QID : 157 - What is called the nuclear reaction process in which a heavy nucleus splits into two nuclei of nearly equal mass?

ey b Frr o 9 A s e e i w7 A & P g &, o s i
Options:

1) Fast breeding

wres i

2) Controlled breeding

Tt e

3) Nuclear fission

Anferfr fe

4) Nuclear fusion
AT T

Comrect Answer: Nuclear fission
aforfrT P

Candidate Answer: Nuclear fusion
T =

QID : 158 - Which of the following is an elect wave?

T o e oA PR ety T 87
Options:

1) Infrared rays

T Tt

2) Ultrasonic wave

3) Sound wave
sAf A

4) Cathode rays

Soive et

Comrect Answer: [nfrared rays

C 1 wave

HTETAITAT AT

QID : 1590 - From which one of the following 'e quinine extracted ?
Frwforiors & o1 frerr e P srer 27

Oplions:

1) Sarpagandha

T

2) Opium

3) Cinchona

4) Datura

bl

Correct Answer: Cinchona
T

c . * Gt dh

T

QID : 160 - In which of the following fish the swim bladder is absent?
FreferfE Wt W e e e gaatea 87



3) Silver Fish

Foreare fewr

4) Cartilaginous Fish

Coimrect Answer: Cartilaginous Fish
e T

Candidat 3 Carti

AT T

Fish

QID : 161 - Soda lime is mixture of which of the followings?
Airer mmEs T few R i

Options:

1) PhOH + Cal

2) NaOH + Ca(OH)z

3) NayCo; + Ca0

4) CaCO3 + NaOH

Correct Answer: NaOH + Ca(OH)

Candidate Answer: CaCOj + NaOH

QID : 162 - Patroleum is a mixture of
e wrow R

Options:
1) Hydrocarbon
AT

2) Salts
T

3) Polymer
aiferar

4) Elements

—

Comed Answer: Hydrocarbon
e

Candidate A + Hydr N
FrTETTTa

QID : 163 - Water Gas is composition of which of the fallowings’

A ey T A S A g7
jons:

1) CO and H:0

€O % Hy0

2) CO; and CO

€O, #rCco

3)CO and H,

€O ¥ Hy

4) €0, and Hy

co, #H;,

Correct Answer: CO and Ha

CO s Hy

Candidate Answer: CO and H:0

€O #mH,0

QID : 164 - Which of the following states covers National Mission for Sustaini Himalayan Ecosystem (NMSHE)?

Fureer P wi s = Gt § uet) & Frafefes & & 5 o oy i 32




ons:
1) West Bengal
afirs e
2) Mizoram
T
3) Arunachal Pradesh
ST TR
4) All options are correct
areft P Y F
Coimrect Answer: All options are correct
wroft P iy ¥
Candidate Answer: All options are correct
it Preee ot &

QID : 165 - The habitat of which animal was impacted the most by the war and the movement of troops in Kargil ?
wTefier % gz e e ¥ arT & few e F B o e afine marfe R

Options:

1) Panda

e

2) Fox

T

3) Elephant

i

4) Himalayan Brown Bear

frarerT A Ay

Comect Answer: Himalayan Brown Bear
Frarers A Ay

Candidate Answer: Panda

rer

QID : 166 - In which of the following place, the construction of country's first Indian Institute of Skills (IIS) has started?

et & o e ware o Tar o wel ST St wear (s Te) s e o groer £

Options:
1) Lucknow

1

) Bangalore

i1

) Kanpur

:

4) Mumbhai

§x

mect Answer: Kanpur

Ba "

1t

QID : 167 - Which of the following organi=ation /ministry has launched Vittiya Saksharata Abhiyan (VISAKA) scheme?

frwfrfier & 91 frer sy | SererT i fpier AT ST (VISAKA) = o= 37
Oplions:

1) Finance Ministry

Frer ey

2) Ministry of Human Resource Development

sreey efenaer e sarery

3) Defence Ministry

TEAT WA

4) Home Ministry

T WA

Correct Answer: Ministry of Human Resource Development
WA weTE R e

Candidate Answer: Ministry of Human Resource Development
W AT e e

QID : 168 - Which country has the highest number of space debris till date?

T 9T T AATOA AT AT T AT 57



Options:

1) Russia

=T

2) Bhutan

A

3) China

=

4) India

T

Comect Answer: Russia
—r

Candidate Answer: Russia
e

QID : 169 - Which type of battery is used in recently launched world's first fully electric cargo ship by China?

== T grer F & it i o Fea & oo o A 9 Prge w fire & fier were F df e wer Ber mr i
ons:

1) Lead Acid

e see

2) Manganese

e

3) Lithium ion

e

4) Nickel metal hydride

Comrect Answer: Lithium ion

Frfre s

Candidate Answer: Nickel metal hydride

QID : 170 - In which category the five time world champion Mary Kom won gold medal indhe A8fan Women's Boxing Championships 20172

ar= = F e S &t wiw 5 ot ahier et STt 2007 o B oeit o s 6 i
Options:

1)58kg

58 .,

2)48kg

48 Fram

3)42kg

42 fea

4) No option is comect

st P it it &
Comrect Answer: 48 kg
48 fr.am

Candidate Answer: 48 kg
48 .3

QID : 171 - Indian women's hockey team recently won the Asia Cup hockey tile. Which of the following team was defeated by India?

et wfgen gt Fi 7 g f F gften w7 w7 frewr ofem Frefate § & e fra ot s § o G e

Oplions:
1) Japan
T

2) Pakistan
ATy
3) China
=

4) Indonesia
Correct Answer: China
St

Candidate Answer: Pakistan
Ty

QID : 172 - In November 2017, India and Bangladesh inaugurated second cross-border train ‘Bandhan Express'. What was the name of first train?

AT 2017 |, AT T SrrewEer F T S-S 29 U TR ¥ 32T MR e I FT AT ¥ 9T



Options:

1) Bangla Express

HTET TR

2) Maitree Express

T TR

3) Friendship Express

4) No option is comect

s P rfr ol &

Comrect Answer: Maitres Express
it T

Candidat 1 Bangla Exp
AT T

QID : 173 - The only country in the world whose flag is NOT a square or rectangle is

Frawrevareion &, Brewer v o met ar e ot #1
Options:

1) Pakistan

e

2) china

=

3) 5 Lanka

frerrr

4) Nepal

Trer

Comrect Answer: Nepal
AT

Candidate Answer: Nepal
T

QID : 174 - In October 2017, famous writer-lyricist Javed Akhtar was honoured with which of the following awards?

sraw 2017 #, aitfg oS aers seer w Pt e F o e st R e o
Options:
1) Filmfare Award 2017
7 2017
2) Hridaynath Mangeshkar Award 2017
FETATY W g 2017
3) Oscar 2017
FrerT 2017
4) No option is comect
st P it it &
Coirect Answer: Hridaynath Mangeshkar Award 2017
T WA qoeeT 2017
C 2 Hri M shkar Award 2017
RTIAr ST e 2017

QID : 175 - Who was awarded the 53 Jnanpith Award 20177

537 swerdrer e, 2017 7 Fr e ey e
ons:

1) Srilal Shukla

T

Z) Kumar Vishwas

AT Fear

3) Krishna Sobti

o wrreet

4) Amrita Pritam

T o

Cormrect Answer: Krishna Sobti

o AT

Candidate Answer: Amrita Pritam

st e

QID : 176 - Union Govt constituted a committee to oversee public sector banks merger. Who is the chairman of the committee?

=T T 7 AETE o= ¥ ¥ B B B ooy wfaE afes Fh s e T e v 20



Options:

1) Amitabh Kant

Aty Wi

2) Arun latley

3) Raghuram Rajan

TR T

4) Hasmukh Adhiya

vy afirer

Comrect Answer: Arun Jaitley
Y W

Candidate Answer: Arun Jaitiey

QID : 177 - In November 2017, GST Council reduced GST rate from 28% to 18% on how many items?

e 2017 &, Aot afrrr 7 fr et o Sfroedt o o 28% 7 18% 7w ww T 67
Options:

1) 150

2)50

3)227

4177

Correct Answer: 177

Candidate Answer: 177

QID : 178 - Which of the following countries anncunced to withdraw from UNESCO?

Fermforory il 7 97 Faems gaeT 3 e AT o AT Sy 7
Oplions:

1) United States of America

2) Istael

EATET

3) United States of America and Israel both

TR TIT AECT e T wrat

4) No option is correct

g Fomer T AR F

Correct Answer: United States of America and Israel both
Candidate Answer: Lnited States of Amarica and Ierasl both

QID : 179 - Which of the following countries will relax visa rules for Indians from 1 January, 2018?

Freferfer & 7 F-am 297 1 St 2018 #r sresftar § Py sfter Feret 7 g T v
Options:

1) United States of America

2) Japan

AT

3) China

=

4) Australia

Correct Answer: lapan
AT

Candidate Answer: United States of America

QID : 180 - The Union Govt has approved the development of a Turtle sanctuary in in October 2017,

A 2017 o ¥ www A _ Hw g e & e w1 g A i
Oplions:

1) Patma

T

2Z) Varanasi

3) Kanpur



Comrect Answer: Allahabad
TR

Candidate Answer: Kanpur
b i

QID : 181 - Which of the following countries will commence a joint tiger census with India?

Fraforfers 2o # & o 7 e ¥ 7y i AT FAETET o e
Options:
1) Bangladesh
gENE
2) Nepal
FTer
3) Pakistan
i

4) Bhutan

T

Cormrect Answer: Nepal
AT

Candid g g e

AT

QID : 182 - Who has been appointed as the new Finance Secretary in November 20172

=t 2017 W A Fre afEe § =7 9 fe P R men 32
Options:
1) Ashok Lavasa
ST T
2) Hasmukh Adhla
wfirm

Lk

3) Rajesv Kumar

AT HTT

4) R K Singh

A T Wy

Correct Answer: Hasmukh Adhia
FETe

Candidate Answer: Ashok Lavasa
ST T

QID : 183 - In October 2017, who was swom in as the new Pri= - Mini."» of New Zealand?

TFAT 2017 W, =T & A0 TRt F = F fee oo o 7
Options:

1) Winsten Peters

lEpco icy

2) Ivanka Trump

T T

3) Jacinda Ardern

4) No option is correct

g o o =T &

Comredt Answer: Jacinda Arders |
wfFrer s

Candidate Answer: Jacinda Ardern
e ardT

QID : 184 - India's first ever All India Institute of Ayurveda was inaugurated in which city?

VTTR TR AT AT AT T T TR 4 g W gy e
Options:

1) Jalpur

EREN

2) Pana

Tz

3) Surat

et
4) New Delhi
7% Favdt



Candidate Answer: New Delhi
% Fedy

QID : 185 - The 23rd annual Conference of the Parties (COP) was held in which country in October 20177

AT 2017 F Fer 2or 3 wier 5w T 9o (COP) o7 23 = =i srverr sy fear rar n?

Options:
1) Germany
L

2) India

AT

3) Russia

=T

4) Canada

FATET

Comrect Answer: Germany
AT

Candidate Answer: Russia
b

QID : 186 - What is the sum of all prime numbers from 50 to 657

50 ¥ 65 =% 7T AT ST W on e
Options:

1)173

2) 163

3) 149

4) 189

Cormrect Answer: 173

Candidate Answer: 189

QID : 187 - What is the value of 2 + 4 + 6 + ... 407

244+6+ ... 40w AT AT 7
Options:

1) 400

2) 441

3) 480

4) 420

Correct Answer: 120
Candidate Answer: 441

QID : 188 - Which is the smallest fraction among 3/4, ” '3, 4/7 and 5/3?

314, 2/3, 4/7 7 5/3 F # v ot Py e W 82
Options:

1)2/3

2)3/4

3)4/7

4)5/3

Cormrect Answer: 4/7

Candidale Answer: 4/7

QID : 189 - What is the Least Common Multiple of 2/3, 4/7 and 12/35?

23, 47 Tar 1235 T #r=ra TEITIS = 7
Options:

1)12

2)12/3

3)12/5

4) 1217

Comrect Answer: 12

Candidale Answer: 12/5



QID : 190 -

5 IxT+hx2
What is the value of —————— 7
' e g4 +2x3
A3xT+5x2
bl i, ?
e T T
Options:
1)31/8
2)7/8
3)5/6
4)2/3

Correct Answer: 31/8
Candidate Answer: 31/8

QID : 191 - Which number is 30% less than 80% of 100?

w1 A7 w100 ¥ 80% W 30% v &7
Options:

1) 60

2) 44

3)56

4)72

Correct Answers 56

Candidate Answer: 56

QID : 192 - Rs 15000 s divided among P. Q and R. P's share and Q's share is in the ratio 2 : 1 and Q's share and R's share is in the ratio 4 : 3. How much amount
(in Rs) will Q receive?

15000 =5TP, QR F R R e s P Rer Qw2 1 vy A e QO wrRErar R Rer 4. 3% s F 41 Q 71 Bl oo (= )
ferenfr?

Options:

1) 6000

2) 4500

3) 8000

4) 4000

Comect Answer: 4000

Candidate Answer: 4000

QID : 193 - Average age of a group of 20 boys is 15 years. If a boy leaves the group, then the average age becomes 14.5 years. What is the age (in years) of the
boy who left the group?

20 w1t ¥ v ey FF drvr A 15 A i afE v mew ey wE T g, A s ary 14.5 =8 7 Al i ey s e e o s (e ) v 87
Options:

1)24.5

2)255

3)235

4)21

Cormrect Answer: 24.5

Candidale Answer: 21

QID : 194 - What will be the compound interest (in Rs) on a sum of Rs 6000 for 2 years at the rate of 10% per annum?

6000 = it oy TfIT o7 2 At Fovr 10% it o =i =7 7 swepte s (7 R) g
Options:

1) 1260

2) 1200

2)1380

4) 1140

Correct Answer: 1260

Candidale Answer: 1380

QID : 195 - The profit earned by seling an article for Rs 900 is equal to the loss incurred by selling the same article for Rs 500. What should be the selling price (in
Rs) of the article to earn a profit of 30%?



Candidate Answer: 910

QID : 196 - What will be the net discount (in %) on giving two successive discounts of 30% and 10%?

30% =T 10% W1 =1 wiww gz T v e () 9= (% §) w geie
Options:

1)38

2)37

3)35

4)40

Correct Answer: 37

Candidate Answer: 35

QID : 197 - The breadth of a rectangular hall is 4/5 of its length. If the area of the floor is 500 mZ, then what is the differance (jin metres) between the length and
breadth of the hall?

firft aremeT e ot <frevE vl s FF 45 i 3 T S 500 .2 &, e f ereE Ay < v st (e ) e B
Options:

1)5

2) 10

3)20

4)1s

Correct Answer: 5

Candidale Answer: 20

QID : 198 - A car travels at a speed of 100 km/hr and covers a particular distance in 2 haur 30 minutes, Another car travelling at the speed of 60 km/hr will cover
the same distance in how much time (in hours)?

o w100 Fr s o af # soreft @ e v Pl o w1 2 30 R F A vt 1 60 Bt e oft i f s et o ster e e o o e e (R ) R
el anicd

Options:

1)5

2) 25/6

2)17/5

4) 23/5

Correct Answer: 25/6

Candidale Answer: 25/6

QID : 199 - P and Q have invested ina business in . = = » of 4: 7. P has invested for 21 months. IfP and Q receive profit in the ratio of 3 : 5, then for how many
month did Q invested?

P AT Q A T ST H 4 1 7 A A e < A P ¥ 21 v P Fter R P o Q 913 ¢ § % S et o e &, A7 Q # Ry s i e v
T grm?

Options:

1)20

2) 18

3)17

4) 15

Comrect Answer: 20

Candidate Answer: 20

QID : 200 - Two taps P and R can fill a tank in 16 hours and 24 hours respectively while a third tap S can empty the same tank in 48 hours. If all the three taps are
opened together, then in how many hours the tank will be filled?

=7 A P AT R O T ¥T WL 16 T AT 24 o | A7 T § Fafw ow ey Ao s oo S 97 48 = # mvel o A & afr S e w1 ow ame s fe A, Al
Ty = & o Aenir?

Options:

1) 24

2) 16

3)12

48

Cormrect Answer: 12





